POLYNOMIALS

1 For the polynomial P(x) = 3x" + 2x’ + 7, which statement is correct?

A degree=3 B leadingterm=3 C leading coefficient =3 D constantterm =3
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2 Express the polynomial P(x) = x* = x’ + 6x in standard form. Then write:
(a) its degree (b) the constant term (c) the coefficient of x (d) theleading term
(e) the greatest number of real zeros possible. (f) Hence solve the equation P(x) = 0.

Ph)= —x2+ X*+6x

) g 3 b) O )l &) —x7

e) i fop of mel 3 gpc ok it agdnoﬁms
() (o) — x> +x* + 6x :I.(—L"-f—I.-l-G)
A | —4x(-)x6 = 25=S* a0 fwo acoh
X =—=1-5_3 aud xz=:,L+ZSL-=—l

A o to P0=0
0) - (2-3)at2) (1) mo Ry ape 3odetiom B o s

3 Write the following polynomials in standard form and then state:

(i) the degree (ii) the constant term (iii) the coefficient of x°
(iv) whether or not it is monic (v) the greatest number of real zeros possible.
(@) X+5x +7-6x (b) 27-x (€) ax’+bx+cx’ —d
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POLYNOMIALS

4 State whether each expression is a polynomial or not. If it is not a polynomial, explain why.
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5 IfA(x)¥x2—5x+landB(x)=3x4—2x2+Sx+3,then}3'('x):-A(x)=...
A -3 +3x%-10x-2 B 3x'-3x"+2 C 3x'-3xr-10x+2 @3x4—3x2+10x+2

Br) AR =32 -22" +5x + 3 - (X~ 5x +1)
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POLYNOMIALS
6 IfA(x) =3x"—2x+ 1, B(x) = 5x = 2, C(x) = 2x" = 55" + 3x + 4 and D(x) = 2x" — 4x’ - 3, simplify:

(a) A(x)+C(x) (b) B(x)x D(x) (c) D(x)-C(x)
(d) A(x)x B(x) (e) A(x)-3C(x)+ 2B(x)

&) Mo +C6) =3x? ~2x +1 + 2x Y- 5Sx* +23x + 4

Ab) +C6) = 2xf - 2x*+ x+ 5
L) Bl x D) = (5% —Z)(Z:CE*MLZ -3)
_loxf-202-15x ~kx+8xF+6
_oxb-kxf-20x*+ 8xF~ 152 t6

) D) —(Cl)= 2X°-4r*-3 ..[214_511 +3x + 4]
_ )X fxr—3 =22 +5x -3 -4
R IS N Sy S

Y A x BG) = (dx-1x +)(5x-2)
_ |5x®-6x"- Ox*+Lx +5x -2
_ |5x*-l6x* t1x -2
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¢ M)~ 3CE +2 Bl = 3x2-2x+] =3 (224~ 52F +31+4)
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POLYNOMIALS

7 IfE(x) =x" =3, F(x) =3x+ 2, G(x) =x" + 2x + 1 and H(x) = x - 3x + 2, find the polynomial for:

(@) E(x) x F(x) (b) F(x)x G(x) (c) 3G(x)—4H(x)
(d) (x-3)G(x) (e) [F) () E(x)x G(x) + F(x) X H(x)

) ) G(x [3L+Z (X.Z-I-ZZ_‘H)
- BxP+ 62+ 3x 2] +hx +2
e = Bx*+8x* +FXFL

) 3 66) - b HG) = 5[7(1+2x+|:)—4[x2—$z_+2]

= 3xr +6xt 3 4 x*+12x -8
—— = =%(2 4+ B2~5

&) (-3)66) = (x-3)(*+2x+))

_ xd+ x4k -3 ~-br =3
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